sight line and a person's line of sight
to an object above.

- also called angle of inclination

D
& B angle of depression

Angle of Depression = the angle between the horizontal
sight line and a person's line of
sight to an object below.

object

angle of elevation = angle of depression

Key words matched to the sides of a triangle:

diagonally Necessary parts of your

vertical directly answer:
tall - labeled diagram
height - formula
horizontal - sentence answer
base
ground

1. An observer is positioned 34 m from the base of a cliff. If the angle of
elevation from the observer to the cliff is 63°, how tall is the cliff?

o=073

O=x  plonb2 =% (39
X A:BA\’

B X=66.7Tm

63"
34 ™ %

The <\ € (< 4007 mebres g\l

2. From a good year blimp 225 metres high, the angle of depression
to the 55=7d line of a football game is 37°. How far away,
. iSt¥adhor
horlzontzﬂly 1s the game?

TwWo c\mo>\'<CE’AS~' @( e = 37 "‘-dh 37 = 225

o 37 0= 325 ~_ I X
%3:5 e I—\:-* X = Qas

2 % — ) Cran 37
7;5// i . The gemeis  XT 998.8 m

X XA



3. A tree, 3 m tall, casts a shadow 5 m long. Calculate the angle of
elevation of the sun.

— @ OH= X

o= 3

?ﬁ AT5 xhary2)
)/

X=3(°

#ah)(;_}_
5

X

The sun 1= a-
an o(\j\e of S\D_

4. An observer on a cliff spots a windsurfer on water below. If the
angle of depression from observer to surfer is 53° on a cliff 168 m
above sea level, how far is the observer from the surfer directly?

&= 53

o~ -

juy S o= (bs <
|® X = \b%
M SN 83
Gz R0

The obsener ig
=4 he , . 210 . ¢ —‘c Lo
'E“fof\(chmm.\ﬁ\e = +\r\emw<\:(\\d61\)r?cr "
Y- (pick |
5. A fishing boat fishes in water which happens to be 60 metres
deep and detects a school of fish using sonar. If the angle of

depression of the equipment is 13° how far horizontally must the
boat travel to be above the fish?

WA ~uw,

©=\3 A &0
) GY\\B
\3 O=60 S >§
e} A=Y xX= O

‘:’;4 —=— han 1
X= 3259 .8 m

Prachece The boat must travel ASA.8 iy 4o ceach
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